Award RFQ: 35155 Bus Parts

RFQ 35155

Close Date 7/24/2024 14:00

RFQ Currency USD

Quotes Received 11
Active Quotes 11
Shortlisted Quotes 11

Invited Suppliers 40
Intent to Participate 9

Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
1 CHAMBER:BRAKE REAR BOTH 041236 Kirk's Automotive Inc Assembly 8 8 8 1 194.8
1 CHAMBER:BRAKE REAR BOTH 041236 Neopart Transit LLC Assembly 8 8 2 195
1 CHAMBER:BRAKE REAR BOTH 041236 Muncie Transit Supply Assembly 8 8 3 204.9
1 CHAMBER:BRAKE REAR BOTH 041236 Vehicle Maintenance ProgrlAssembly 8 8 4 215.12
1 CHAMBER:BRAKE REAR BOTH 041236 Mohawk Manufacturing anqAssembly 8 8 5 222.42
1 CHAMBER:BRAKE REAR BOTH 041236 The Aftermarket Parts Con]Assembly 8 8 6 280.83
1 CHAMBER:BRAKE REAR BOTH 041236 ElDorado National (CalifornfAssembly 8 8 7 505.22
1 CHAMBER:BRAKE REAR BOTH 041236 A&A Auto Parts Stores Inc |Assembly 8
1 CHAMBER:BRAKE REAR BOTH 041236 Gillig LLC Assembly 8
1 CHAMBER:BRAKE REAR BOTH 041236 Interstate Power Systems |Assembly 8
1 CHAMBER:BRAKE REAR BOTH 041236 Suburban Truck Parts Assembly 8
2 YOKE:KIT-REAR CHAMBER 040108 Mohawk Manufacturing anqKit 10 10 unapproved part number |1 4.08
2 YOKE:KIT-REAR CHAMBER 040108 Muncie Transit Supply Kit 10 10 10 2 4.29
2 YOKE:KIT-REAR CHAMBER 040108 Gillig LLC Kit 10 10 3 4.58
2 YOKE:KIT-REAR CHAMBER 040108 The Aftermarket Parts Con]Kit 10 10 4 6.03
2 YOKE:KIT-REAR CHAMBER 040108 A&A Auto Parts Stores Inc |Kit 10
2 YOKE:KIT-REAR CHAMBER 040108 ElDorado National (Californ|Kit 10
2 YOKE:KIT-REAR CHAMBER 040108 Interstate Power Systems |Kit 10
2 YOKE:KIT-REAR CHAMBER 040108 Kirk's Automotive Inc Kit 10
2 YOKE:KIT-REAR CHAMBER 040108 Neopart Transit LLC Kit 10
2 YOKE:KIT-REAR CHAMBER 040108 Suburban Truck Parts Kit 10
2 YOKE:KIT-REAR CHAMBER 040108 Vehicle Maintenance Progr|Kit 10
3 S-CAM:REAR RH/CURB BRAKE 041131 Mohawk Manufacturing anqPiece 4 4 4 1 49.29
3 S-CAM:REAR RH/CURB BRAKE 041131 Neopart Transit LLC Piece 4 4 2 103.55
3 S-CAM:REAR RH/CURB BRAKE 041131 Suburban Truck Parts Piece 4 4 3 115.42
3 S-CAM:REAR RH/CURB BRAKE 041131 Vehicle Maintenance Progr|Piece 4 4 4 123.45
3 S-CAM:REAR RH/CURB BRAKE 041131 Muncie Transit Supply Piece 4 4 5 125.89
3 S-CAM:REAR RH/CURB BRAKE 041131 The Aftermarket Parts ConjPiece 4 4 6 1275
3 S-CAM:REAR RH/CURB BRAKE 041131 A&A Auto Parts Stores Inc |Piece 4
3 S-CAM:REAR RH/CURB BRAKE 041131 ElDorado National (CalifornPiece 4
3 S-CAM:REAR RH/CURB BRAKE 041131 Gillig LLC Piece 4
3 S-CAM:REAR RH/CURB BRAKE 041131 Interstate Power Systems |Piece 4
3 S-CAM:REAR RH/CURB BRAKE 041131 Kirk's Automotive Inc Piece 4
4 VALVE:BRAKE RELAY (R14) 200901 Neopart Transit LLC Assembly 20 20 20 1 73.81
4 VALVE:BRAKE RELAY (R14) 200901 Mohawk Manufacturing anqAssembly 20 20 2 77.11
4 VALVE:BRAKE RELAY (R14) 200901 ElDorado National (CaliforfAssembly 20 20 3 79.32
4 VALVE:BRAKE RELAY (R14) 200901 Gillig LLC Assembly 20 20 4 80.12
4 VALVE:BRAKE RELAY (R14) 200901 Muncie Transit Supply Assembly 20 20 5 80.84
4 VALVE:BRAKE RELAY (R14) 200901 The Aftermarket Parts ConjAssembly 20 20 6 95.08
4 VALVE:BRAKE RELAY (R14) 200901 A&A Auto Parts Stores Inc |Assembly 20
4 VALVE:BRAKE RELAY (R14) 200901 Interstate Power Systems |Assembly 20
4 VALVE:BRAKE RELAY (R14) 200901 Kirk's Automotive Inc Assembly 20
4 VALVE:BRAKE RELAY (R14) 200901 Suburban Truck Parts Assembly 20
4 VALVE:BRAKE RELAY (R14) 200901 Vehicle Maintenance ProgrlAssembly 20
5 CARTRIDGE:AD9 DRYER 200522 Muncie Transit Supply Piece 24 24 24 1 20.73
5 CARTRIDGE:AD9 DRYER 200522 Mohawk Manufacturing andPiece 24 24 2 21
5 CARTRIDGE:AD9 DRYER 200522 Neopart Transit LLC Piece 24 24 3 58.9
5 CARTRIDGE:AD9 DRYER 200522 The Aftermarket Parts ConjPiece 24 24 4 222.78
5 CARTRIDGE:AD9 DRYER 200522 A&A Auto Parts Stores Inc |Piece 24
5 CARTRIDGE:AD9 DRYER 200522 ElDorado National (CalifornPiece 24
5 CARTRIDGE:AD9 DRYER 200522 Gillig LLC Piece 24
5 CARTRIDGE:AD9 DRYER 200522 Interstate Power Systems |Piece 24
5 CARTRIDGE:AD9 DRYER 200522 Kirk's Automotive Inc Piece 24
5 CARTRIDGE:AD9 DRYER 200522 Suburban Truck Parts Piece 24
5 CARTRIDGE:AD9 DRYER 200522 Vehicle Maintenance Progr|Piece 24
6 PIN:CLEVIS-FRONT CHAMBER 040504 Mohawk Manufacturing andPiece 20 20 20 1 1.3
6 PIN:CLEVIS-FRONT CHAMBER 040504 Muncie Transit Supply Piece 20 20 2 1.71
6 PIN:CLEVIS-FRONT CHAMBER 040504 Neopart Transit LLC Piece 20 20 3 1.9
6 PIN:CLEVIS-FRONT CHAMBER 040504 The Aftermarket Parts ConjPiece 20 20 4 2.32
6 PIN:CLEVIS-FRONT CHAMBER 040504 Vehicle Maintenance Progr|Piece 20 20 5 3.33
6 PIN:CLEVIS-FRONT CHAMBER 040504 A&A Auto Parts Stores Inc |Piece 20
6 PIN:CLEVIS-FRONT CHAMBER 040504 ElDorado National (CalifornPiece 20
6 PIN:CLEVIS-FRONT CHAMBER 040504 Gillig LLC Piece 20
6 PIN:CLEVIS-FRONT CHAMBER 040504 Interstate Power Systems |Piece 20
6 PIN:CLEVIS-FRONT CHAMBER 040504 Kirk's Automotive Inc Piece 20
6 PIN:CLEVIS-FRONT CHAMBER 040504 Suburban Truck Parts Piece 20
7 VALVE:SERVICE,RELAY R12 200611 Mohawk Manufacturing andPiece 20 20 unapproved part 1 41
7 VALVE:SERVICE,RELAY R12 200611 Gillig LLC Piece 20 20 20 2 125.78




Award RFQ: 35155 Bus Parts

RFQ 35155

Close Date 7/24/2024 14:00

RFQ Currency USD

Quotes Received
Active Quotes
Shortlisted Quotes

11
11
11

Invited Suppliers 40
Intent to Participate 9

Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
7 VALVE:SERVICE,RELAY R12 200611 Neopart Transit LLC Piece 20 20 3 129.05
7 VALVE:SERVICE,RELAY R12 200611 Muncie Transit Supply Piece 20 20 4 140.58
7 VALVE:SERVICE,RELAY R12 200611 The Aftermarket Parts Con]Piece 20 20 5 169.32
7 VALVE:SERVICE,RELAY R12 200611 A&A Auto Parts Stores Inc |Piece 20
7 VALVE:SERVICE,RELAY R12 200611 ElDorado National (CalifornPiece 20
7 VALVE:SERVICE,RELAY R12 200611 Interstate Power Systems |Piece 20
7 VALVE:SERVICE,RELAY R12 200611 Kirk's Automotive Inc Piece 20
7 VALVE:SERVICE,RELAY R12 200611 Suburban Truck Parts Piece 20
7 VALVE:SERVICE,RELAY R12 200611 Vehicle Maintenance Progr|Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 The Aftermarket Parts Con]Piece 20 20 20 1 2.65
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Muncie Transit Supply Piece 20 20 2 4.06
8 FITTING:ADAPTER-4MP-4T,P2C 200813 A&A Auto Parts Stores Inc |Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 ElDorado National (CalifornPiece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Gillig LLC Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Interstate Power Systems |Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Kirk's Automotive Inc Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Mohawk Manufacturing anqPiece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Neopart Transit LLC Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Suburban Truck Parts Piece 20
8 FITTING:ADAPTER-4MP-4T,P2C 200813 Vehicle Maintenance Progr|Piece 20
9 FILTER:HYDRAULIC 200863 A&A Auto Parts Stores Inc |Piece 36 36 36 1 9.84
9 FILTER:HYDRAULIC 200863 The Aftermarket Parts Con]Piece 36 36 2 11.33
9 FILTER:HYDRAULIC 200863 Suburban Truck Parts Piece 36 36 3 11.75
9 FILTER:HYDRAULIC 200863 Muncie Transit Supply Piece 36 36 4 12.68
9 FILTER:HYDRAULIC 200863 Neopart Transit LLC Piece 36 36 5 15.82
9 FILTER:HYDRAULIC 200863 Interstate Power Systems |Piece 36 36 6 18.22
9 FILTER:HYDRAULIC 200863 Mohawk Manufacturing andPiece 36 36 7 21.46
9 FILTER:HYDRAULIC 200863 ElDorado National (CalifornPiece 36
9 FILTER:HYDRAULIC 200863 Gillig LLC Piece 36
9 FILTER:HYDRAULIC 200863 Kirk's Automotive Inc Piece 36
9 FILTER:HYDRAULIC 200863 Vehicle Maintenance Progr|Piece 36
10 DRUM:REAR BRAKE 041213 The Aftermarket Parts Con]Piece 24 24 24 1 173.95
10 DRUM:REAR BRAKE 041213 Gillig LLC Piece 24 24 2 175
10 DRUM:REAR BRAKE 041213 Muncie Transit Supply Piece 24 24 3 227.65
10 DRUM:REAR BRAKE 041213 Mohawk Manufacturing andPiece 24 24 4 258.06
10 DRUM:REAR BRAKE 041213 Vehicle Maintenance Progr|Piece 24 24 5 305.61
10 DRUM:REAR BRAKE 041213 ElDorado National (CalifornPiece 24 24 6 490.86
10 DRUM:REAR BRAKE 041213 A&A Auto Parts Stores Inc |Piece 24
10 DRUM:REAR BRAKE 041213 Interstate Power Systems |Piece 24
10 DRUM:REAR BRAKE 041213 Kirk's Automotive Inc Piece 24
10 DRUM:REAR BRAKE 041213 Neopart Transit LLC Piece 24
10 DRUM:REAR BRAKE 041213 Suburban Truck Parts Piece 24
11 DRUM:REAR BRAKE 041213 The Aftermarket Parts Con]Piece 8 8 8 1 173.95
11 DRUM:REAR BRAKE 041213 Gillig LLC Piece 8 8 2 175
11 DRUM:REAR BRAKE 041213 Muncie Transit Supply Piece 8 8 3 227.65
11 DRUM:REAR BRAKE 041213 Mohawk Manufacturing andPiece 8 8 4 258.06
11 DRUM:REAR BRAKE 041213 Vehicle Maintenance Progr|Piece 8 8 5 305.61
11 DRUM:REAR BRAKE 041213 ElDorado National (CalifornPiece 8 8 6 490.86
11 DRUM:REAR BRAKE 041213 A&A Auto Parts Stores Inc |Piece 8
11 DPRUM:REAR BRAKE 041213 Interstate Power Systems |Piece 8
11 DRUM:REAR BRAKE 041213 Kirk's Automotive Inc Piece 8
11 DRUM:REAR BRAKE 041213 Neopart Transit LLC Piece 8
11 DRUM:REAR BRAKE 041213 Suburban Truck Parts Piece 8
12 CARTRIDGE:DESICCANT 24V 2K  [200622 Mohawk Manufacturing anqAssembly 48 48 48 1 72.45
12 CARTRIDGE:DESICCANT 24V 2K [200622 Muncie Transit Supply Assembly 48 48 2 77.8
12 CARTRIDGE:DESICCANT 24V 2K [200622 The Aftermarket Parts Con]Assembly 48 48 3 93.2
12 CARTRIDGE:DESICCANT 24V 2K  |200622 Suburban Truck Parts Assembly 48 48 4 112.2
12 CARTRIDGE:DESICCANT 24V 2K [200622 Neopart Transit LLC Assembly 48 48 5 117.02
12 CARTRIDGE:DESICCANT 24V 2K  [200622 Kirk's Automotive Inc Assembly 48 48 6 148.84
12 CARTRIDGE:DESICCANT 24V 2K |200622 A&A Auto Parts Stores Inc |Assembly 48
12 CARTRIDGE:DESICCANT 24V 2K [200622 ElDorado National (Californ Assembly 48
12 CARTRIDGE:DESICCANT 24V 2K |200622 Gillig LLC Assembly 48
12 CARTRIDGE:DESICCANT 24V 2K 1200622 Interstate Power Systems |Assembly 48
12 CARTRIDGE:DESICCANT 24V 2K [200622 Vehicle Maintenance ProgrlAssembly 48
13 ADJUSTER:SLACK REAR R-C/S AD{041217 The Aftermarket Parts ComKit 6 6 unapproved part number |1 107.31
13 ADJUSTER:SLACK REAR R-C/S AD{041217 Neopart Transit LLC Kit 6 6 6 2 114.49
13 ADJUSTER:SLACK REAR R-C/S ADJ041217 Mohawk Manufacturing andKit 6 6 3 114.9
13 ADJUSTER:SLACK REAR R-C/S AD{041217 Muncie Transit Supply Kit 6 6 4 123.57




Award RFQ: 35155 Bus Parts

RFQ 35155

Close Date 7/24/2024 14:00

RFQ Currency USD

Quotes Received
Active Quotes
Shortlisted Quotes

11
11
11

Invited Suppliers 40
Intent to Participate 9
Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
13 ADJUSTER:SLACK REAR R-C/S AD{041217 Suburban Truck Parts Kit 6 6 5 173.59
13 ADJUSTER:SLACK REAR R-C/S AD{041217 ElDorado National (Californ Kit 6 6 6 2275
13 ADJUSTER:SLACK REAR R-C/S AD{041217 A&A Auto Parts Stores Inc |Kit 6
13 ADJUSTER:SLACK REAR R-C/S AD{041217 Gillig LLC Kit 6
13 ADJUSTER:SLACK REAR R-C/S ADJ041217 Interstate Power Systems |Kit 6
13 ADJUSTER:SLACK REAR R-C/S AD{041217 Kirk's Automotive Inc Kit 6
13 ADJUSTER:SLACK REAR R-C/S ADJ041217 Vehicle Maintenance Progr|Kit 6
14 SEAL: REAR AXLE OIL SEAL 041227 Mohawk Manufacturing anqAssembly 20 20 20 1 151
14 SEAL: REAR AXLE OIL SEAL 041227 Muncie Transit Supply Assembly 20 20 2 26.57
14 SEAL: REAR AXLE OIL SEAL 041227 Gillig LLC Assembly 20 20 3 27.25
14 SEAL: REAR AXLE OIL SEAL 041227 Kirk's Automotive Inc Assembly 20 20 4 32
14 SEAL: REAR AXLE OIL SEAL 041227 The Aftermarket Parts Con]Assembly 20 20 5 a7
14 SEAL: REAR AXLE OIL SEAL 041227 Neopart Transit LLC Assembly 20 20 6 114.63
14 SEAL: REAR AXLE OIL SEAL 041227 A&A Auto Parts Stores Inc |Assembly 20
14 SEAL: REAR AXLE OIL SEAL 041227 ElDorado National (CalifornfAssembly 20
14 SEAL: REAR AXLE OIL SEAL 041227 Interstate Power Systems |Assembly 20
14 SEAL: REAR AXLE OIL SEAL 041227 Suburban Truck Parts Assembly 20
14 SEAL: REAR AXLE OIL SEAL 041227 Vehicle Maintenance ProgrlAssembly 20
15 SEAL: REAR AXLE OIL SEAL 041227 Mohawk Manufacturing andAssembly 20 20 20 1 15.1
15 SEAL: REAR AXLE OIL SEAL 041227 Muncie Transit Supply Assembly 20 20 2 26.57
15 SEAL: REAR AXLE OIL SEAL 041227 Gillig LLC Assembly 20 20 3 27.25
15 SEAL: REAR AXLE OIL SEAL 041227 Kirk's Automotive Inc Assembly 20 20 4 32
15 SEAL: REAR AXLE OIL SEAL 041227 The Aftermarket Parts Con]Assembly 20 20 5 47
15 SEAL: REAR AXLE OIL SEAL 041227 Neopart Transit LLC Assembly 20 20 6 114.63
15 SEAL: REAR AXLE OIL SEAL 041227 A&A Auto Parts Stores Inc |Assembly 20
15 SEAL: REAR AXLE OIL SEAL 041227 ElDorado National (Californ Assembly 20
15 SEAL: REAR AXLE OIL SEAL 041227 Interstate Power Systems |Assembly 20
15 SEAL: REAR AXLE OIL SEAL 041227 Suburban Truck Parts Assembly 20
15 SEAL: REAR AXLE OIL SEAL 041227 Vehicle Maintenance ProgrlAssembly 20
16 SWITCH:PRESSURE, 4PSI 200525 Gillig LLC Piece 12 12 incomplete part number |1 64.78
16 SWITCH:PRESSURE, 4PSI 200525 Muncie Transit Supply Piece 12 12 12 2 155.78
16 SWITCH:PRESSURE, 4PSI 200525 Mohawk Manufacturing andPiece 12 12 3 167.46
16 SWITCH:PRESSURE, 4PSI 200525 Interstate Power Systems |Piece 12 12 4 168.55
16 SWITCH:PRESSURE, 4PSI 200525 The Aftermarket Parts ConjPiece 12 12 5 231.33
16 SWITCH:PRESSURE, 4PSI 200525 ElDorado National (CalifornPiece 12 12 6 452.46
16 SWITCH:PRESSURE, 4PSI 200525 A&A Auto Parts Stores Inc |Piece 12
16 SWITCH:PRESSURE, 4PSI 200525 Kirk's Automotive Inc Piece 12
16 SWITCH:PRESSURE, 4PSI 200525 Neopart Transit LLC Piece 12
16 SWITCH:PRESSURE, 4PSI 200525 Suburban Truck Parts Piece 12
16 SWITCH:PRESSURE, 4PSI 200525 Vehicle Maintenance Progr|Piece 12
17 KIT:SERVICE-BRK.VALVE,R14 040509 Mohawk Manufacturing andKit 5 5 5 1 8.76
17 KIT:SERVICE-BRK.VALVE,R14 040509 Neopart Transit LLC Kit 5 5 2 27.45
17 KIT:SERVICE-BRK.VALVE,R14 040509 Gillig LLC Kit 5 5 3 27.85
17 KIT:SERVICE-BRK.VALVE,R14 040509 Muncie Transit Supply Kit 5 5 4 28.45
17 KIT:SERVICE-BRK.VALVE,R14 040509 The Aftermarket Parts Con]Kit 5 5 5 34.73
17 KIT:SERVICE-BRK.VALVE,R14 040509 Kirk's Automotive Inc Kit 5 5 6 45
17 KIT:SERVICE-BRK.VALVE,R14 040509 A&A Auto Parts Stores Inc |Kit 5
17 KIT:SERVICE-BRK.VALVE,R14 040509 ElDorado National (Californ|Kit 5
17 KIT:SERVICE-BRK.VALVE,R14 040509 Interstate Power Systems |Kit 5
17 KIT:SERVICE-BRK.VALVE,R14 040509 Suburban Truck Parts Kit 5
17 KIT:SERVICE-BRK.VALVE,R14 040509 Vehicle Maintenance Progr|Kit 5
18 GASKET:RETAINER-REAR WHEEL |040162 Mohawk Manufacturing andPiece 40 40 unapproved part 1 0.28
18 GASKET:RETAINER-REAR WHEEL [040162 Neopart Transit LLC Piece 40 40 40 2 1.15
18 GASKET:RETAINER-REAR WHEEL [040162 The Aftermarket Parts ConjPiece 40 40 3 1.54
18 GASKET:RETAINER-REAR WHEEL [040162 Gillig LLC Piece 40 40 4 1.55
18 GASKET:RETAINER-REAR WHEEL [040162 Muncie Transit Supply Piece 40 40 5 1.55
18 GASKET:RETAINER-REAR WHEEL |040162 Vehicle Maintenance Progr|Piece 40 40 6 2.19
18 GASKET:RETAINER-REAR WHEEL |040162 A&A Auto Parts Stores Inc |Piece 40
18 GASKET:RETAINER-REAR WHEEL (040162 ElDorado National (CalifornPiece 40
18 GASKET:RETAINER-REAR WHEEL [040162 Interstate Power Systems |Piece 40
18 GASKET:RETAINER-REAR WHEEL [040162 Kirk's Automotive Inc Piece 40
18 GASKET:RETAINER-REAR WHEEL [040162 Suburban Truck Parts Piece 40
19 MODULE:CONTROL-RETARDER  [200536 Muncie Transit Supply Assembly 2 2 2 1 200.52
19 MODULE:CONTROL-RETARDER 200536 Interstate Power Systems |Assembly 2 2 2 216.83
19 MODULE:CONTROL-RETARDER  [200536 The Aftermarket Parts ConjAssembly 2 2 3 368.77
19 MODULE:CONTROL-RETARDER  [200536 A&A Auto Parts Stores Inc |Assembly 2
19 MODULE:CONTROL-RETARDER [200536 ElDorado National (CalifornfAssembly 2
19 MODULE:CONTROL-RETARDER  |200536 Gillig LLC Assembly 2




Award RFQ: 35155 Bus Parts

RFQ 35155

Close Date 7/24/2024 14:00

RFQ Currency USD

Quotes Received 11
Active Quotes 11
Shortlisted Quotes 11

Invited Suppliers 40
Intent to Participate 9

Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
19 MODULE:CONTROL-RETARDER  [200536 Kirk's Automotive Inc Assembly 2
19 MODULE:CONTROL-RETARDER  |200536 Mohawk Manufacturing anqAssembly 2
19 MODULE:CONTROL-RETARDER  [200536 Neopart Transit LLC Assembly 2
19 MODULE:CONTROL-RETARDER  |200536 Suburban Truck Parts Assembly 2
19 MODULE:CONTROL-RETARDER  [200536 Vehicle Maintenance ProgrlAssembly 2
20 SEAL:OIL-FRT/REAR CAMSHAFT  |040090 Muncie Transit Supply Assembly 40 40 40 1 0.74
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 The Aftermarket Parts Con]Assembly 40 40 2 0.77
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 Neopart Transit LLC Assembly 40 40 3 1.14
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 Mohawk Manufacturing andAssembly 40 40 4 1.15
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 Vehicle Maintenance ProgrlAssembly 40 40 5 1.92
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 A&A Auto Parts Stores Inc |Assembly 40
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 ElDorado National (CalifornlAssembly 40
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 Gillig LLC Assembly 40
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 Interstate Power Systems |Assembly 40
20 SEAL:OIL-FRT/REAR CAMSHAFT |040090 Kirk's Automotive Inc Assembly 40
20 SEAL:OIL-FRT/REAR CAMSHAFT  |040090 Suburban Truck Parts Assembly 40
21 SWITCH:PRES.RETARDER 2PSI  |200542 Gillig LLC Assembly 1 1 1 1 64.78
21 SWITCH:PRES.RETARDER 2PSI 200542 Mohawk Manufacturing anqAssembly 1 1 2 69.23
21 SWITCH:PRES.RETARDER 2PSI 200542 The Aftermarket Parts Con]Assembly 1 1 3 96.67
21 SWITCH:PRES.RETARDER 2PSI 200542 Muncie Transit Supply Assembly 1 1 4 96.71
21 SWITCH:PRES.RETARDER 2PSI 200542 Interstate Power Systems |Assembly 1 1 5 173.71
21 SWITCH:PRES.RETARDER 2PSI  |200542 A&A Auto Parts Stores Inc |Assembly 1
21 SWITCH:PRES.RETARDER 2PSI 200542 ElDorado National (CalifornAssembly 1
21 SWITCH:PRES.RETARDER 2PSI  |200542 Kirk's Automotive Inc Assembly 1
21 SWITCH:PRES.RETARDER 2PSI 200542 Neopart Transit LLC Assembly 1
21 SWITCH:PRES.RETARDER 2PSI 200542 Suburban Truck Parts Assembly 1
21 SWITCH:PRES.RETARDER 2PSI 200542 Vehicle Maintenance ProgrlAssembly 1
22 SWITCH:PRES.RETARDER 2PSI  [200542 Gillig LLC Assembly 3 3 3 1 64.78
22 SWITCH:PRES.RETARDER 2PSI 200542 Mohawk Manufacturing andAssembly 3 3 2 69.23
22 SWITCH:PRES.RETARDER 2PSI 200542 The Aftermarket Parts ConjAssembly 3 3 3 96.67
22 SWITCH:PRES.RETARDER 2PSI  |200542 Muncie Transit Supply Assembly 3 3 4 96.71
22 SWITCH:PRES.RETARDER 2PSI 200542 Interstate Power Systems |Assembly 3 3 5 173.71
22 SWITCH:PRES.RETARDER 2PSI 200542 A&A Auto Parts Stores Inc |Assembly 3
22 SWITCH:PRES.RETARDER 2PSI  |200542 ElDorado National (CalifornfAssembly 3
22 SWITCH:PRES.RETARDER 2PSI 200542 Kirk's Automotive Inc Assembly 3
22 SWITCH:PRES.RETARDER 2PSI 200542 Neopart Transit LLC Assembly 3
22 SWITCH:PRES.RETARDER 2PSI  |200542 Suburban Truck Parts Assembly 3
22 SWITCH:PRES.RETARDER 2PSI  |200542 Vehicle Maintenance ProgrlAssembly 3
23 GASKET:AXLE SHAFT-REAR 040596 Mohawk Manufacturing anqPiece 40 40 40 1 0.42
23 GASKET:AXLE SHAFT-REAR 040596 Muncie Transit Supply Piece 40 40 2 1
23 GASKET:AXLE SHAFT-REAR 040596 Neopart Transit LLC Piece 40 40 3 1.8
23 GASKET:AXLE SHAFT-REAR 040596 Suburban Truck Parts Piece 40 40 4 211
23 GASKET:AXLE SHAFT-REAR 040596 Gillig LLC Piece 40 40 5 2.29
23 GASKET:AXLE SHAFT-REAR 040596 The Aftermarket Parts ConjPiece 40 40 6 2.36
23 GASKET:AXLE SHAFT-REAR 040596 Vehicle Maintenance Progr|Piece 40 40 7 241
23 GASKET:AXLE SHAFT-REAR 040596 A&A Auto Parts Stores Inc |Piece 40
23 GASKET:AXLE SHAFT-REAR 040596 ElDorado National (CalifornPiece 40
23 GASKET:AXLE SHAFT-REAR 040596 Interstate Power Systems |Piece 40
23 GASKET:AXLE SHAFT-REAR 040596 Kirk's Automotive Inc Piece 40
24 GASKET:AXLE SHAFT-REAR 040596 Mohawk Manufacturing andPiece 40 40 40 1 0.42
24 GASKET:AXLE SHAFT-REAR 040596 Muncie Transit Supply Piece 40 40 2 1
24 GASKET:AXLE SHAFT-REAR 040596 Neopart Transit LLC Piece 40 40 3 1.8
24 GASKET:AXLE SHAFT-REAR 040596 Suburban Truck Parts Piece 40 40 4 211
24 GASKET:AXLE SHAFT-REAR 040596 Gillig LLC Piece 40 40 5 2.29
24 GASKET:AXLE SHAFT-REAR 040596 The Aftermarket Parts Con]Piece 40 40 6 2.36
24 GASKET:AXLE SHAFT-REAR 040596 Vehicle Maintenance Progr|Piece 40 40 7 241
24 GASKET:AXLE SHAFT-REAR 040596 A&A Auto Parts Stores Inc |Piece 40
24 GASKET:AXLE SHAFT-REAR 040596 ElDorado National (CalifornPiece 40
24 GASKET:AXLE SHAFT-REAR 040596 Interstate Power Systems |Piece 40
24 GASKET:AXLE SHAFT-REAR 040596 Kirk's Automotive Inc Piece 40
25 GASKET:AXLE SHAFT-REAR 040596 Mohawk Manufacturing andPiece 100 100 100 1 0.42
25 GASKET:AXLE SHAFT-REAR 040596 Muncie Transit Supply Piece 100 100 2 1
25 GASKET:AXLE SHAFT-REAR 040596 Neopart Transit LLC Piece 100 100 3 1.8
25 GASKET:AXLE SHAFT-REAR 040596 Suburban Truck Parts Piece 100 100 4 211
25 GASKET:AXLE SHAFT-REAR 040596 Gillig LLC Piece 100 100 5 2.29
25 GASKET:AXLE SHAFT-REAR 040596 The Aftermarket Parts Con]Piece 100 100 6 2.36
25 GASKET:AXLE SHAFT-REAR 040596 Vehicle Maintenance Progr|Piece 100 100 7 2.41
25 GASKET:AXLE SHAFT-REAR 040596 A&A Auto Parts Stores Inc |Piece 100




Award RFQ: 35155 Bus Parts

RFQ 35155

Close Date 7/24/2024 14:00

RFQ Currency USD

Quotes Received
Active Quotes
Shortlisted Quotes

11
11
11

Invited Suppliers 40
Intent to Participate 9
Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
25 GASKET:AXLE SHAFT-REAR 040596 ElDorado National (CalifornPiece 100
25 GASKET:AXLE SHAFT-REAR 040596 Interstate Power Systems |Piece 100
25 GASKET:AXLE SHAFT-REAR 040596 Kirk's Automotive Inc Piece 100
26 S-CAM:REAR LH/ROAD BRAKE 041132 Mohawk Manufacturing andPiece 4 4 4 1 55.56
26 S-CAM:REAR LH/ROAD BRAKE 041132 Neopart Transit LLC Piece 4 4 2 103.03
26 S-CAM:REAR LH/ROAD BRAKE 041132 Suburban Truck Parts Piece 4 4 3 114.84
26 S-CAM:REAR LH/ROAD BRAKE 041132 Vehicle Maintenance Progr|Piece 4 4 4 123.45
26 S-CAM:REAR LH/ROAD BRAKE 041132 Muncie Transit Supply Piece 4 4 5 126.56
26 S-CAM:REAR LH/ROAD BRAKE 041132 The Aftermarket Parts ConjPiece 4 4 6 126.86
26 S-CAM:REAR LH/ROAD BRAKE 041132 A&A Auto Parts Stores Inc |Piece 4
26 S-CAM:REAR LH/ROAD BRAKE 041132 ElDorado National (CalifornPiece 4
26 S-CAM:REAR LH/ROAD BRAKE 041132 Gillig LLC Piece 4
26 S-CAM:REAR LH/ROAD BRAKE 041132 Interstate Power Systems |Piece 4
26 S-CAM:REAR LH/ROAD BRAKE 041132 Kirk's Automotive Inc Piece 4
27 BELLOWS:REAR AIR BELLOW 030421 Gillig LLC Piece 8 8 8 1 141.09
27 BELLOWS:REAR AIR BELLOW 030421 Muncie Transit Supply Piece 8 8 2 146.9
27 BELLOWS:REAR AIR BELLOW 030421 ElDorado National (CalifornPiece 8 8 3 261.05
27 BELLOWS:REAR AIR BELLOW 030421 Kirk's Automotive Inc Piece 8 8 4 324
27 BELLOWS:REAR AIR BELLOW 030421 The Aftermarket Parts ConjPiece 8 8 5 32455
27 BELLOWS:REAR AIR BELLOW 030421 A&A Auto Parts Stores Inc |Piece 8
27 BELLOWS:REAR AIR BELLOW 030421 Interstate Power Systems |Piece 8
27 BELLOWS:REAR AIR BELLOW 030421 Mohawk Manufacturing anqPiece 8
27 BELLOWS:REAR AIR BELLOW 030421 Neopart Transit LLC Piece 8
27 BELLOWS:REAR AIR BELLOW 030421 Suburban Truck Parts Piece 8
27 BELLOWS:REAR AIR BELLOW 030421 Vehicle Maintenance Progr|Piece 8
28 S-CAM:REAR BRAKE LEFT HAND [041272 Neopart Transit LLC Piece 6 6 6 1 39.58
28 S-CAM:REAR BRAKE LEFT HAND [041272 Suburban Truck Parts Piece 6 6 2 41.75
28 S-CAM:REAR BRAKE LEFT HAND [041272 The Aftermarket Parts Con]Piece 6 6 3 46.12
28 S-CAM:REAR BRAKE LEFT HAND 041272 Muncie Transit Supply Piece 6 6 4 46.17
28 S-CAM:REAR BRAKE LEFT HAND 041272 Mohawk Manufacturing andPiece 6 6 5 46.82
28 S-CAM:REAR BRAKE LEFT HAND 041272 Vehicle Maintenance Progr|Piece 6 6 6 55.53
28 S-CAM:REAR BRAKE LEFT HAND 041272 ElDorado National (CalifornPiece 6 6 7 145.23
28 S-CAM:REAR BRAKE LEFT HAND 041272 A&A Auto Parts Stores Inc |Piece 6
28 S-CAM:REAR BRAKE LEFT HAND |041272 Gillig LLC Piece 6
28 S-CAM:REAR BRAKE LEFT HAND 041272 Interstate Power Systems |Piece 6
28 S-CAM:REAR BRAKE LEFT HAND [041272 Kirk's Automotive Inc Piece 6
29 S-CAM:REAR BRAKE RIGHT HAND 041273 The Aftermarket Parts Con]Piece 6 6 6 1 39.9
29 S-CAM:REAR BRAKE RIGHT HAND 041273 Neopart Transit LLC Piece 6 6 2 39.96
29 S-CAM:REAR BRAKE RIGHT HAND 041273 Suburban Truck Parts Piece 6 6 3 41.55
29 S-CAM:REAR BRAKE RIGHT HAND |041273 Muncie Transit Supply Piece 6 6 4 45.69
29 S-CAM:REAR BRAKE RIGHT HAND |041273 Mohawk Manufacturing andPiece 6 6 5 46.82
29 S-CAM:REAR BRAKE RIGHT HAND |041273 Vehicle Maintenance Progr|Piece 6 6 6 53.55
29 S-CAM:REAR BRAKE RIGHT HAND |041273 ElDorado National (CalifornPiece 6 6 7 145.23
29 S-CAM:REAR BRAKE RIGHT HAND |041273 A&A Auto Parts Stores Inc |Piece 6
29 S-CAM:REAR BRAKE RIGHT HAND 041273 Gillig LLC Piece 6
29 S-CAM:REAR BRAKE RIGHT HAND |041273 Interstate Power Systems |Piece 6
29 S-CAM:REAR BRAKE RIGHT HAND 041273 Kirk's Automotive Inc Piece 6
30 HOSE:CHAMBER REAR BRAKE 041283 ElDorado National (CalifornPiece 5 5 5 1 71.27
30 HOSE:CHAMBER REAR BRAKE 041283 A&A Auto Parts Stores Inc |Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Gillig LLC Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Interstate Power Systems |Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Kirk's Automotive Inc Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Mohawk Manufacturing andPiece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Muncie Transit Supply Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Neopart Transit LLC Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Suburban Truck Parts Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 The Aftermarket Parts Con]Piece 5
30 HOSE:CHAMBER REAR BRAKE 041283 Vehicle Maintenance Progr|Piece 5
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 The Aftermarket Parts ConjAssembly 3 3 3 1 96.3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 ElDorado National (CalifornAssembly 3 3 2 175.8
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 A&A Auto Parts Stores Inc |Assembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Gillig LLC Assembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA(200973 Interstate Power Systems |Assembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Kirk's Automotive Inc Assembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Mohawk Manufacturing anqAssembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Muncie Transit Supply Assembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Neopart Transit LLC Assembly 3
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Suburban Truck Parts Assembly 3




Award RFQ: 35155 Bus Parts

RFQ 35155 Quotes Received 11 Invited Suppliers 40
Close Date 7/24/2024 14:00 Active Quotes 11 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 11 Responded 11
Line Summary
Quote Award

Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
31 LINE:INPUT,AIR COMP. TO DISCHA|200973 Vehicle Maintenance ProgrlAssembly 3

32 DRUM:REAR BRAKE 041332 Neopart Transit LLC Piece 12 12 12 1 575
32 DRUM:REAR BRAKE 041332 Gillig LLC Piece 12 12 2 581.14
32 DRUM:REAR BRAKE 041332 Vehicle Maintenance Progr|Piece 12 12 3 595.7
32 DRUM:REAR BRAKE 041332 Suburban Truck Parts Piece 12 12 4 596.95
32 DRUM:REAR BRAKE 041332 The Aftermarket Parts ConjPiece 12 12 5 621.49
32 DRUM:REAR BRAKE 041332 Mohawk Manufacturing andPiece 12 12 6 657.9
32 DRUM:REAR BRAKE 041332 Muncie Transit Supply Piece 12 12 7 698.4
32 DRUM:REAR BRAKE 041332 A&A Auto Parts Stores Inc |Piece 12

32 DRUM:REAR BRAKE 041332 ElDorado National (CalifornPiece 12

32 DRUM:REAR BRAKE 041332 Interstate Power Systems |Piece 12

32 DRUM:REAR BRAKE 041332 Kirk's Automotive Inc Piece 12

33 ADJUSTER:SLACK REAR C/S ADJU|0410000 The Aftermarket Parts Con]Piece 30 30 30 1 113.36
33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Neopart Transit LLC Piece 30 30 2 1315
33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Mohawk Manufacturing andPiece 30 30 3 137.42
33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Muncie Transit Supply Piece 30 30 4 141.07
33 ADJUSTER:SLACK REAR C/S ADJU[0410000 Suburban Truck Parts Piece 30 30 5 177.31
33 ADJUSTER:SLACK REAR C/S ADJU|0410000 ElDorado National (CalifornPiece 30 30 6 226.88
33 ADJUSTER:SLACK REAR C/S ADJU|0410000 A&A Auto Parts Stores Inc |Piece 30

33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Gillig LLC Piece 30

33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Interstate Power Systems |Piece 30

33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Kirk's Automotive Inc Piece 30

33 ADJUSTER:SLACK REAR C/S ADJU|0410000 Vehicle Maintenance Progr|Piece 30

34 ADJUSTER:SLACK REAR C/S ADJU|0410000 The Aftermarket Parts ConjPiece 10 10 10 1 113.36
34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Neopart Transit LLC Piece 10 10 2 1315
34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Mohawk Manufacturing andPiece 10 10 3 137.42
34 ADJUSTER:SLACK REAR C/S ADJU[0410000 Muncie Transit Supply Piece 10 10 4 141.07
34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Suburban Truck Parts Piece 10 10 5 177.31
34 ADJUSTER:SLACK REAR C/S ADJU|0410000 ElDorado National (CalifornPiece 10 10 6 226.88
34 ADJUSTER:SLACK REAR C/S ADJU|0410000 A&A Auto Parts Stores Inc |Piece 10

34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Gillig LLC Piece 10

34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Interstate Power Systems |Piece 10

34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Kirk's Automotive Inc Piece 10

34 ADJUSTER:SLACK REAR C/S ADJU|0410000 Vehicle Maintenance Progr|Piece 10

35 CALIPER:R/S BRAKE CALIPER, NEY0410001 Vehicle Maintenance Progr|Piece 4 4 4 1 1090
35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Neopart Transit LLC Piece 4 4 2 1100
35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Suburban Truck Parts Piece 4 4 3 1135.94
35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 The Aftermarket Parts Con]Piece 4 4 4 1234.16
35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 ElDorado National (CalifornPiece 4 4 5 3097.36
35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 A&A Auto Parts Stores Inc |Piece 4

35 CALIPER:R/S BRAKE CALIPER, NE\J0410001 Gillig LLC Piece 4

35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Interstate Power Systems |Piece 4

35 CALIPER:R/S BRAKE CALIPER, NEY0410001 Kirk's Automotive Inc Piece 4

35 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Mohawk Manufacturing andPiece 4

35 CALIPER:R/S BRAKE CALIPER, NEY0410001 Muncie Transit Supply Piece 4

36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Vehicle Maintenance Progr|Piece 2 2 2 1 1090
36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Neopart Transit LLC Piece 2 2 2 1100
36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Suburban Truck Parts Piece 2 2 3 1135.94
36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 The Aftermarket Parts ConjPiece 2 2 4 1234.16
36 CALIPER:R/S BRAKE CALIPER, NEY0410001 ElDorado National (CalifornPiece 2 2 5 3097.36
36 CALIPER:R/S BRAKE CALIPER, NE\J0410001 A&A Auto Parts Stores Inc |Piece 2

36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Gillig LLC Piece 2

36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Interstate Power Systems |Piece 2

36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Kirk's Automotive Inc Piece 2

36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Mohawk Manufacturing andPiece 2

36 CALIPER:R/S BRAKE CALIPER, NEJ0410001 Muncie Transit Supply Piece 2

37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 Vehicle Maintenance Progr|Piece 4 4 4 1 1090
37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 Neopart Transit LLC Piece 4 4 2 1100
37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 Suburban Truck Parts Piece 4 4 3 1135.94
37 CALIPER:C/S BRAKE CALIPER, NEY0410002 The Aftermarket Parts Con]Piece 4 4 4 1234.16
37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 ElDorado National (CalifornPiece 4 4 5 3097.36
37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 A&A Auto Parts Stores Inc |Piece 4

37 CALIPER:C/S BRAKE CALIPER, NE\J0410002 Gillig LLC Piece 4

37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 Interstate Power Systems |Piece 4

37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 Kirk's Automotive Inc Piece 4

37 CALIPER:C/S BRAKE CALIPER, NEY0410002 Mohawk Manufacturing andPiece 4

37 CALIPER:C/S BRAKE CALIPER, NEJ0410002 Muncie Transit Supply Piece 4

38 CHAMBER:L/H & RH REAR BRAKE (0410003 Neopart Transit LLC Piece 40 40 40 1 220




Award RFQ: 35155 Bus Parts

RFQ 35155
Close Date 7/24/2024 14:00
RFQ Currency USD

Quotes Received
Active Quotes
Shortlisted Quotes

11
11
11

Invited Suppliers 40
Intent to Participate 9

Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Kirk's Automotive Inc Piece 40 40 2 220
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Vehicle Maintenance Progr|Piece 40 40 3 222.89
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Muncie Transit Supply Piece 40 40 4 233.77
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Mohawk Manufacturing andPiece 40 40 5 253.9
38 CHAMBER:L/H & RH REAR BRAKE (0410003 The Aftermarket Parts Con]Piece 40 40 6 296.85
38 CHAMBER:L/H & RH REAR BRAKE (0410003 ElDorado National (CalifornPiece 40 40 7 705.98
38 CHAMBER:L/H & RH REAR BRAKE (0410003 A&A Auto Parts Stores Inc |Piece 40
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Gillig LLC Piece 40
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Interstate Power Systems |Piece 40
38 CHAMBER:L/H & RH REAR BRAKE (0410003 Suburban Truck Parts Piece 40
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Neopart Transit LLC Piece 12 12 12 1 220
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Kirk's Automotive Inc Piece 12 12 2 220
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Vehicle Maintenance Progr|Piece 12 12 3 222.89
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Muncie Transit Supply Piece 12 12 4 233.77
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Mohawk Manufacturing andPiece 12 12 5 253.9
39 CHAMBER:L/H & RH REAR BRAKE (0410003 The Aftermarket Parts ConjPiece 12 12 6 296.85
39 CHAMBER:L/H & RH REAR BRAKE (0410003 ElDorado National (CalifornPiece 12 12 7 705.98
39 CHAMBER:L/H & RH REAR BRAKE (0410003 A&A Auto Parts Stores Inc |Piece 12
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Gillig LLC Piece 12
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Interstate Power Systems |Piece 12
39 CHAMBER:L/H & RH REAR BRAKE (0410003 Suburban Truck Parts Piece 12
40 KIT: BRAKE PADS FRONT KIT 0410006 Kirk's Automotive Inc Kit 6 6 6 1 130
40 KIT: BRAKE PADS FRONT KIT 0410006 Gillig LLC Kit 6 6 2 220
40 KIT: BRAKE PADS FRONT KIT 0410006 Neopart Transit LLC Kit 6 6 3 230
40 KIT: BRAKE PADS FRONT KIT 0410006 Muncie Transit Supply Kit 6 6 4 236.14
40 KIT: BRAKE PADS FRONT KIT 0410006 The Aftermarket Parts Con]Kit 6 6 5 307.96
40 KIT: BRAKE PADS FRONT KIT 0410006 Suburban Truck Parts Kit 6 6 6 315.22
40 KIT: BRAKE PADS FRONT KIT 0410006 Vehicle Maintenance Progr|Kit 6 6 7 321
40 KIT: BRAKE PADS FRONT KIT 0410006 A&A Auto Parts Stores Inc |Kit 6
40 KIT: BRAKE PADS FRONT KIT 0410006 ElDorado National (Californ|Kit 6
40 KIT: BRAKE PADS FRONT KIT 0410006 Interstate Power Systems |Kit 6
40 KIT: BRAKE PADS FRONT KIT 0410006 Mohawk Manufacturing andKit 6
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 ElDorado National (CalifornPiece 30 30 unapproved part 1 32.07
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Neopart Transit LLC Piece 30 30 30 2 1315
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Mohawk Manufacturing andPiece 30 30 3 137.42
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Muncie Transit Supply Piece 30 30 4 141.07
41 ADJUSTER:SLACK REAR R/S ADJU[0410009 The Aftermarket Parts Con]Piece 30 30 5 163.13
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Suburban Truck Parts Piece 30 30 6 177.31
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 A&A Auto Parts Stores Inc |Piece 30
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Gillig LLC Piece 30
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Interstate Power Systems |Piece 30
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Kirk's Automotive Inc Piece 30
41 ADJUSTER:SLACK REAR R/S ADJU|0410009 Vehicle Maintenance Progr|Piece 30
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 ElDorado National (CalifornPiece 10 10 unapproved part 1 32.07
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 Neopart Transit LLC Piece 10 10 10 2 1315
42 ADJUSTER:SLACK REAR R/S ADJU[0410009 Mohawk Manufacturing andPiece 10 10 3 137.42
42 ADJUSTER:SLACK REAR R/S ADJU[0410009 Muncie Transit Supply Piece 10 10 4 141.07
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 The Aftermarket Parts Con]Piece 10 10 5 163.13
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 Suburban Truck Parts Piece 10 10 6 177.31
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 A&A Auto Parts Stores Inc |Piece 10
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 Gillig LLC Piece 10
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 Interstate Power Systems |Piece 10
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 Kirk's Automotive Inc Piece 10
42 ADJUSTER:SLACK REAR R/S ADJU|0410009 Vehicle Maintenance Progr|Piece 10
43 VALVE: AIR DOUBLE CHECK VALV{2010004 Mohawk Manufacturing andPiece 2 2 unapproved part 1 13.84
43 VALVE: AIR DOUBLE CHECK VALVHE2010004 ElDorado National (CalifornPiece 2 2 2 2 22.39
43 VALVE: AIR DOUBLE CHECK VALVHE2010004 Gillig LLC Piece 2 2 3 32.85
43 VALVE: AIR DOUBLE CHECK VALVHE2010004 Muncie Transit Supply Piece 2 2 4 37.97
43 VALVE: AIR DOUBLE CHECK VALVHE2010004 The Aftermarket Parts ConjPiece 2 2 5 45.58
43 VALVE: AIR DOUBLE CHECK VALVHE2010004 A&A Auto Parts Stores Inc |Piece 2
43 VALVE: AIR DOUBLE CHECK VALVH2010004 Interstate Power Systems |Piece 2
43 VALVE: AIR DOUBLE CHECK VALVH{2010004 Kirk's Automotive Inc Piece 2
43 VALVE: AIR DOUBLE CHECK VALV}2010004 Neopart Transit LLC Piece 2
43 VALVE: AIR DOUBLE CHECK VALVH{2010004 Suburban Truck Parts Piece 2
43 VALVE: AIR DOUBLE CHECK VALV{2010004 Vehicle Maintenance Progr|Piece 2
44 BEARING:SPACER SEAL KIT TAG A0310004 Muncie Transit Supply Kit 4 4 4 1 385.53
44 BEARING:SPACER SEAL KIT TAG A0310004 The Aftermarket Parts Con]Kit 4 4 2 433.09
44 BEARING:SPACER SEAL KIT TAG A0310004 A&A Auto Parts Stores Inc |Kit 4




Award RFQ: 35155 Bus Parts

RFQ 35155
Close Date 7/24/2024 14:00
RFQ Currency USD

Quotes Received
Active Quotes
Shortlisted Quotes

11
11
11

Invited Suppliers 40
Intent to Participate 9
Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
44 BEARING:SPACER SEAL KIT TAG A0310004 ElDorado National (CalifornfKit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Gillig LLC Kit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Interstate Power Systems |Kit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Kirk's Automotive Inc Kit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Mohawk Manufacturing andKit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Neopart Transit LLC Kit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Suburban Truck Parts Kit 4
44 BEARING:SPACER SEAL KIT TAG A0310004 Vehicle Maintenance Progr|Kit 4
45 BELLOW:FRONT AIR BAG BELLOW|0110014 Neopart Transit LLC Piece 8 8 8 1 132
45 BELLOW:FRONT AIR BAG BELLOW|0110014 Gillig LLC Piece 8 8 2 132.45
45 BELLOW:FRONT AIR BAG BELLOW|0110014 Muncie Transit Supply Piece 8 8 3 137.77
45 BELLOW:FRONT AIR BAG BELLOW|0110014 The Aftermarket Parts Con]Piece 8 8 4 174.32
45 BELLOW:FRONT AIR BAG BELLOW|0110014 ElDorado National (CalifornPiece 8 8 5 220.34
45 BELLOW:FRONT AIR BAG BELLOW|0110014 A&A Auto Parts Stores Inc |Piece 8
45 BELLOW:FRONT AIR BAG BELLOW|0110014 Interstate Power Systems |Piece 8
45 BELLOW:FRONT AIR BAG BELLOW|0110014 Kirk's Automotive Inc Piece 8
45 BELLOW:FRONT AIR BAG BELLOW|0110014 Mohawk Manufacturing anqPiece 8
45 BELLOW:FRONT AIR BAG BELLOW|[0110014 Suburban Truck Parts Piece 8
45 BELLOW:FRONT AIR BAG BELLOW|[0110014 Vehicle Maintenance Progr|Piece 8
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Neopart Transit LLC Assembly 6 6 6 1 513.63
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Kirk's Automotive Inc Assembly 6 6 2 537
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Vehicle Maintenance ProgrlAssembly 6 6 3 538.53
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Muncie Transit Supply Assembly 6 6 4 555.72
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Mohawk Manufacturing anqAssembly 6 6 5 585.65
46 CHAMBER:FRONT BRAKE CHAMBH0410035 The Aftermarket Parts ConjAssembly 6 6 6 759.96
46 CHAMBER:FRONT BRAKE CHAMBH0410035 A&A Auto Parts Stores Inc |Assembly 6
46 CHAMBER:FRONT BRAKE CHAMBH0410035 ElDorado National (CalifornfAssembly 6
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Gillig LLC Assembly 6
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Interstate Power Systems |Assembly 6
46 CHAMBER:FRONT BRAKE CHAMBH0410035 Suburban Truck Parts Assembly 6
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 Neopart Transit LLC Assembly 2 2 2 1 610.17
47 DRYER AY: AIR, AD-9 TURBO CHAH2010037 Muncie Transit Supply Assembly 2 2 2 654.22
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 Mohawk Manufacturing anqAssembly 2 2 3 683.46
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 ElDorado National (CaliforfAssembly 2 2 4 752.74
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 The Aftermarket Parts ConjAssembly 2 2 5 786.01
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 A&A Auto Parts Stores Inc |Assembly 2
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 Gillig LLC Assembly 2
47 DRYER AY: AIR, AD-9 TURBO CHAHR2010037 Interstate Power Systems |Assembly 2
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 Kirk's Automotive Inc Assembly 2
47 DRYER AY: AIR, AD-9 TURBO CHAH2010037 Suburban Truck Parts Assembly 2
47 DRYER AY: AIR, AD-9 TURBO CHAR2010037 Vehicle Maintenance ProgrlAssembly 2
48 PLATE: FRONT AIR BELLOWS ADA|0110026 ElDorado National (CalifornPiece 10 10 10 1 67.89
48 PLATE: FRONT AIR BELLOWS ADA|0110026 A&A Auto Parts Stores Inc |Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Gillig LLC Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Interstate Power Systems |Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Kirk's Automotive Inc Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Mohawk Manufacturing andPiece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Muncie Transit Supply Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Neopart Transit LLC Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Suburban Truck Parts Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 The Aftermarket Parts Con]Piece 10
48 PLATE: FRONT AIR BELLOWS ADA|0110026 Vehicle Maintenance Progr|Piece 10
49 PLATE: FRONT AIR BELLOWS ADA|0110026 ElDorado National (CalifornPiece 6 6 6 1 67.89
49 PLATE: FRONT AIR BELLOWS ADA|0110026 A&A Auto Parts Stores Inc |Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Gillig LLC Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Interstate Power Systems |Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Kirk's Automotive Inc Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Mohawk Manufacturing andPiece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Muncie Transit Supply Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Neopart Transit LLC Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Suburban Truck Parts Piece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 The Aftermarket Parts ConjPiece 6
49 PLATE: FRONT AIR BELLOWS ADA|0110026 Vehicle Maintenance Progr|Piece 6
50 STUD: FRONT AIR BELLOWS ADAP|0110027 ElDorado National (CalifornPiece 40 40 40 1 1.19
50 STUD: FRONT AIR BELLOWS ADAP|0110027 A&A Auto Parts Stores Inc |Piece 40
50 STUD: FRONT AIR BELLOWS ADAP|0110027 Gillig LLC Piece 40
50 STUD: FRONT AIR BELLOWS ADAP|0110027 Interstate Power Systems |Piece 40
50 STUD: FRONT AIR BELLOWS ADAP|0110027 Kirk's Automotive Inc Piece 40




Award RFQ: 35155 Bus Parts

RFQ 35155 Quotes Received 11 Invited Suppliers 40
Close Date 7/24/2024 14:00 Active Quotes 11 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 11 Responded 11
Line Summary
Quote Award

Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
50 STUD: FRONT AIR BELLOWS ADAP0110027 Mohawk Manufacturing andPiece 40

50 STUD: FRONT AIR BELLOWS ADAP|0110027 Muncie Transit Supply Piece 40

50 STUD: FRONT AIR BELLOWS ADAP0110027 Neopart Transit LLC Piece 40

50 STUD: FRONT AIR BELLOWS ADAP|0110027 Suburban Truck Parts Piece 40

50 STUD: FRONT AIR BELLOWS ADAP|0110027 The Aftermarket Parts ConjPiece 40

50 STUD: FRONT AIR BELLOWS ADAP|0110027 Vehicle Maintenance Progr|Piece 40

51 STUD: FRONT AIR BELLOWS ADAP0110027 ElDorado National (CalifornPiece 100 100 100 1 1.19
51 STUD: FRONT AIR BELLOWS ADAP0110027 A&A Auto Parts Stores Inc |Piece 100

51 STUD: FRONT AIR BELLOWS ADAP|0110027 Gillig LLC Piece 100

51 STUD: FRONT AIR BELLOWS ADAP0110027 Interstate Power Systems |Piece 100

51 STUD: FRONT AIR BELLOWS ADAP|0110027 Kirk's Automotive Inc Piece 100

51 STUD: FRONT AIR BELLOWS ADAP0110027 Mohawk Manufacturing andPiece 100

51 STUD: FRONT AIR BELLOWS ADAP0110027 Muncie Transit Supply Piece 100

51 STUD: FRONT AIR BELLOWS ADAP|0110027 Neopart Transit LLC Piece 100

51 STUD: FRONT AIR BELLOWS ADAP0110027 Suburban Truck Parts Piece 100

51 STUD: FRONT AIR BELLOWS ADAP0110027 The Aftermarket Parts Con]Piece 100

51 STUD: FRONT AIR BELLOWS ADAP0110027 Vehicle Maintenance Progr|Piece 100

52 STUD: FRONT AIR BELLOWS ADAP|0110027 ElDorado National (CalifornPiece 30 20 20 1 1.19
52 STUD: FRONT AIR BELLOWS ADAP|0110027 A&A Auto Parts Stores Inc |Piece 30

52 STUD: FRONT AIR BELLOWS ADAP|0110027 Gillig LLC Piece 30

52 STUD: FRONT AIR BELLOWS ADAP|0110027 Interstate Power Systems |Piece 30

52 STUD: FRONT AIR BELLOWS ADAP|0110027 Kirk's Automotive Inc Piece 30

52 STUD: FRONT AIR BELLOWS ADAP0110027 Mohawk Manufacturing andPiece 30

52 STUD: FRONT AIR BELLOWS ADAP|0110027 Muncie Transit Supply Piece 30

52 STUD: FRONT AIR BELLOWS ADAP0110027 Neopart Transit LLC Piece 30

52 STUD: FRONT AIR BELLOWS ADAP|0110027 Suburban Truck Parts Piece 30

52 STUD: FRONT AIR BELLOWS ADAP|0110027 The Aftermarket Parts Con]Piece 30

52 STUD: FRONT AIR BELLOWS ADAP0110027 Vehicle Maintenance Progr|Piece 30

53 BEAM: REAR AXLE, R/S 0310039 A&A Auto Parts Stores Inc |Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 ElDorado National (CalifornAssembly 1

53 BEAM: REAR AXLE, R/S 0310039 Gillig LLC Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 Interstate Power Systems |Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 Kirk's Automotive Inc Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 Mohawk Manufacturing anqAssembly 1

53 BEAM: REAR AXLE, R/S 0310039 Muncie Transit Supply Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 Neopart Transit LLC Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 Suburban Truck Parts Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 The Aftermarket Parts Con]Assembly 1

53 BEAM: REAR AXLE, R/S 0310039 Vehicle Maintenance ProgrlAssembly 1

54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Mohawk Manufacturing anqPiece 20 20 unapproved part 1 37.35
54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Gillig LLC Piece 20 20 20 2 62.73
54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Muncie Transit Supply Piece 20 20 3 70.94
54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Vehicle Maintenance Progr|Piece 20 20 4 71.11
54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 The Aftermarket Parts ConjPiece 20 20 5 82.63
54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 A&A Auto Parts Stores Inc |Piece 20

54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 ElDorado National (CalifornPiece 20

54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Interstate Power Systems |Piece 20

54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Kirk's Automotive Inc Piece 20

54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Neopart Transit LLC Piece 20

54 SEAL:OIL-REAR AXLE, INNER, BOT|0310048 Suburban Truck Parts Piece 20

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 ElDorado National (CalifornPiece 15 15 15 1 27.9
55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 A&A Auto Parts Stores Inc |Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Gillig LLC Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Interstate Power Systems |Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Kirk's Automotive Inc Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Mohawk Manufacturing andPiece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Muncie Transit Supply Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Neopart Transit LLC Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Suburban Truck Parts Piece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 The Aftermarket Parts ConjPiece 15

55 BOLT:HCS 5/8-18X2 GR8 BOLT 0110049 Vehicle Maintenance Progr|Piece 15

56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT (0110051 ElDorado National (CalifornPiece 10 10 incorrect part number 1 27.9
56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT |0110051 A&A Auto Parts Stores Inc |Piece 10

56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT |0110051 Gillig LLC Piece 10

56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT |0110051 Interstate Power Systems |Piece 10

56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT (0110051 Kirk's Automotive Inc Piece 10

56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT [0110051 Mohawk Manufacturing andPiece 10

56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT [0110051 Muncie Transit Supply Piece 10




Award RFQ: 35155 Bus Parts

RFQ 35155
Close Date 7/24/2024 14:00
RFQ Currency USD

Quotes Received 11
Active Quotes 11
Shortlisted Quotes 11

Invited Suppliers 40
Intent to Participate 9
Responded 11

Line Summary

Quote Award
Line ltem,Rev  |Supplier Unit Quantity Quantity Quantity|Award/Reject Reason Rank Quote Price
56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT (0110051 Neopart Transit LLC Piece 10
56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT (0110051 Suburban Truck Parts Piece 10
56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT (0110051 The Aftermarket Parts Con]Piece 10
56 BOLT:HCS 5/8-18X2 1/4 GR8 BOLT (0110051 Vehicle Maintenance Progr|Piece 10
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 ElDorado National (CalifornEach 12 12 12 1 89.27
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 A&A Auto Parts Stores Inc |Each 12
57 BUSHING: BAR ANTI ROLL SWAY B{0110093 Gillig LLC Each 12
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 Interstate Power Systems |Each 12
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 Kirk's Automotive Inc Each 12
57 BUSHING: BAR ANTI ROLL SWAY B{0110093 Mohawk Manufacturing anqEach 12
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 Muncie Transit Supply Each 12
57 BUSHING: BAR ANTI ROLL SWAY B{0110093 Neopart Transit LLC Each 12
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 Suburban Truck Parts Each 12
57 BUSHING: BAR ANTI ROLL SWAY B|0110093 The Aftermarket Parts ComEach 12
57 BUSHING: BAR ANTI ROLL SWAY B{0110093 Vehicle Maintenance Progr|Each 12

File Download Time 7/24/2024 14:06

10



